
Loveseat Sofa

a. Opening, please check the parts, any defects or missing, contact us in time.
b. Cushion inserts and covers, furniture cover are usually placed in the gap in the armrests or backrests.
Pay attention to check!
c. Advisable to assemble on the mat to avoid wear and tear. Avoid all sharp objects touching the product
surface. Do not allow the children to play around.
d. Do not tighten all screws entirely until assembly is completed. Power tools are available, don't
over-tighten for strip threads. Any problems assembling, first refer to the instruction or inform us with the
photo asap! Also, assembly video is available.
e. If the cushion covers crease, maybe you can try soaking with warm water or ironing!



E: sofa front screen
2 pcs

C: sofa back
2 pcs

D: sofa seat board
2 pcs

A: right sofa arm
1 pc

B: left sofa arm
1 pc

F: sofa foot
4 pcs

open spanner
1 pcs

Inner hexagon spanner
1 pcs

G: sofa foot
2 pcs

U: brace bar
1 pcs

V: screw M6*60mm
25 pcs

furniture cover
1 pcs

2

R: screw M6*35mm
4 pcs

S: shim ø16*6.4*1
54 pcs

Y: shim ø11*6.2*1
12 pcs

X: screw M6*45mm
12 pcs

Z: adjustable screw
6 pcs

T: nut M6
25 pcs



Step 1-1
D x 2, E x 2

Unpacking

seat cushion insert
2 pcs

seat cushion cover
 2 pcs

R: screw M6*35mm
4 pcs

S: shim
ø16*6.4*1 4 pcs

lumbar pillow
2 pcs72h

1

E

D

E

D

S
R

back cushion insert
2 pcs



Step 1-2

Step 2-1
C x 2

T
SS

V

CC

V: screw M6*60mm
4 pcs

T: nut M6
4 pcs

S: shim
ø16*6.4*1 8 pcs

U: brace bar
1 pc

V: screw M6*60mm
3 pcs

T: nut M6
3 pcs

S: shim
ø16*6.4*1 6 pcs

2

EE

D D

V
ST

U



Step 3
A x 1

Step 2-2
T: nut M6
4 pcs

S: shim
ø16*6.4*1 8 pcs

T: nut M6
7 pcs

S: shim
ø16*6.4*1 14 pcs

3

D

A

C

V

S

E ED

T

CC

E E

C

T S
V

D D

V: screw M6*60mm
4 pcs

V: screw M6*60mm
7 pcs



Z
Y

X

G
Z

YX

F

2x

4x

Step 4
B x 1

Step 5

S TV

C

B
D

E

C

E

G: sofa foot
2 pcs

F: sofa foot
4 pcs

X: screw M6*45mm
12 pcs

Y: shim
ø11*6.2*1 12 pcs

Z: adjustable
screw 6 pcs

S: shim
ø16*6.4*1 14 pcs

T: nut M6
7 pcs

4

D

V: screw M6*60mm
7 pcs



72h

5

Guide for Cushion Installation

soak in water

or        if necessary



6



7


	R192-1
	图纸和视图
	模型


	R192-2
	图纸和视图
	模型


	R192-3
	图纸和视图
	模型


	R192-4
	图纸和视图
	模型


	R192-5
	图纸和视图
	模型


	R192-6
	图纸和视图
	模型


	R192-7
	图纸和视图
	模型


	R192-8
	图纸和视图
	模型


	R192-9
	图纸和视图
	模型



